
$Dijagram uz #50. zadatak.

$Google - #5.750.000 `e 

$Facebook $Ireland $Limited Ě|FB-$I> - #5.500.000 `e

$Microsoft $Corporation - #5.250.000 `e

$Huawei $Technologies Ě$Huawei> - #3.000.000 `e

$Amazon $Europe $Core |SARL - #2.750.000 `e

|IBM $Corporation Ě|IBM> - #1.750.000 `e

$Intel $Corporation - #1.750.000 `e

|QUALCOMM $Incorporated* - #1.750.000 `e

$Vodafone $Belgium |SA Ě|VBSA> - #1.750.000 `e

`e #1.000.000

#2.000.000

#3.000.000

#4.000.000

#5.000.000

#6.000.000

$Apple $Inc. - #3.500.000 `e
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